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Quiz: EM and Light                          DO NOT WRITE ON THIS COPY.

Multiple Choice

Identify the letter of the choice that best completes the statement or answers the question.

____ 1. What is the wavelength of microwaves of 3.0 × 109 Hz frequency?

a. 0.060 m c. 0.050 m

b. 0.10 m d. 0.20 m

____ 2. What is the frequency of an electromagnetic wave with a wavelength of 1.0 × 105 m?

a. 1.0 × 1013 Hz c. 3.0 × 1013 Hz

b. 3.0 × 103 Hz d. 1.0 × 103 Hz

____ 3. What is the wavelength of an infrared wave with a frequency of 4.2 × 1014 Hz?

a. 7.1 × 105 m c. 7.1 × 10–7 m

b. 1.4 × 106 m d. 1.4 × 10–6 m

____ 4. In a vacuum, electromagnetic radiation of short wavelengths

a. travels as fast as radiation of long wavelengths.

b. travels slower than radiation of long wavelengths.

c. travels faster than radiation of long wavelengths.

d. can travel both faster and slower than radiation of long wavelengths.

____ 5. When red light is compared with violet light,

a. both have the same frequency. c. both travel at the same speed.

b. both have the same wavelength. d. red light travels faster than violet light.

____ 6. The relationship between frequency, wavelength, and speed holds for light waves because

a. light travels slower in a vacuum than in air.

b. all forms of electromagnetic radiation travel at a single speed in a vacuum.

c. light travels in straight lines.

d. different forms of electromagnetic radiation travel at different speeds.

____ 7. When red light and green light shine on the same place on a piece of white paper, the spot appears to be

a. yellow. c. white.

b. brown. d. black.

____ 8. Which of the following is NOT an additive primary color?

a. yellow c. red

b. blue d. green

____ 9. Which of the following is NOT a primary subtractive color?

a. yellow c. magenta

b. cyan d. blue

____ 10. When the transmission axis is perpendicular to the plane of polarization for light,

a. all the light passes through. c. little of the light passes through.

b. most of the light passes through. d. no light passes through.

Bonus:

 11. What occurs when beams of light of three primary colors are combined?


